
A ( 1 : 11 )

A

PARTS LIST
DESCRIPTIONPRODUCT REF.QTYITEM

Flat FittingHDP103661
Channel slotted 41x41 length: 1498mmHDP1000TX149832
Roof for PV shelter B1580 D491 zink magnesium47665-00113
Washer M10 (DIN 125-1 A) hot dip galvanized126HDM10264
Channel Nut PNP M10 hot dip galvanizedHDPNP10305
Reinforcement plate zink magnesium47732-00126
Channel slotted 41x41 length: 1500mmHDP1000TX150027
Hex-Head Bolt M10 (DIN 933) hot dip galvanized length:30mm93388HDIM10X030308
Washer M10 (DIN 9021) hot dip galvanized9021HDM10X3049

Ó This drawing is copyrighted, all rights reserved. This document may not, in hole or part, be copied, photocopied, translated or reduced to 
any electronic medium or machine readable form without prior consent, in writing, from Vergokan

Name: Large wall shelter
Prod. ref.: PVSL W / PVSL W-AS Number: 47727-A01 Ver. : C

Material:
Category: Mounting sytems Scale: 1 : 22

Format: A4Weight: 34,009 kg

Meersbloem-Melden 16
9700 Oudenaarde
Tel: 055/31.83.35
www.atkore.com/vergokan

Drawn: mzekri

Linear dimensions +/-1mm, angular +/- 1°
other according to ISO 2768-L

C Updates after feedback Regoort: mounting facilities 05/04/2023 mzekri
B Update after sample tesing 16/02/2023 mzekri
A Launch Regoort models 31/01/2023 mzekri

VER VERSION DESCRIPTION DATE DESIGNER

1580

491
15
00

3

1

1

1

1

1

1

2 2

2

77

3

3

7
6 6

8

9

15
00




